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[D00000000oooooooogo]

0000000000000, 000G=(V,AODODDOOODDOOo 20 st,s~ 0000
O00,000,00ec AD0DDOOCOOO0OODODOOOO0O0O0OOOCOOOO0O0O0 c¢(a)
0000000000000, 000000000000 N = (G =(V,A),s*,s,¢)0
O00.0000st0 s 0000000 (sourceentrance), 00O (sink, exit) 00000 .

021: 0 21e0,00000000000.0

1/2 b

(a) DOOO0O0OO N=G=V,A),s+s5,0 (b) ¢(a)/c(a)
O021: 0000000000000

000000 N =(G=(V,A),s",s",0)00000 (low) 00,000 (i),i)000
000000000000 ¢:A—ROOOOOO.

() 0000:00acAD0D0OO
0 < p(a) < c(a). (2.25)
(i) 00000 (000000000): O0veV\{st,s }0000O

dp(v) = 0. (2.26)



Oob0,000veVO000

Dp(v) = D wla) = Y ¢la) (2.27)

acdtov a€d~ v

O0000,00:V —-ROODOO o000 (boundary) DO O0O.

0 22: 0 210b)0¢0,0 21(¢)000000C0O0O0O0OOOODODO.DO

022000000

goooooooao,
dp(s") = —dp(s™) (2.28)

00000, (228)000000 000 (value, flow value) D00, v*(¢) 000000
oo,

023 0 210) 0000 0000,5000.

00000000000 N=(G=(V,A),s,s,c)0000,NOOOOO 000
00 v*(p)00000000000000000 (000) (maximum flow) 000, OO
O00000000000000000 (maximum flow problem) OO O .

0230000000000 00ub-b000oboobobooboobobboogoog. d
I I A A A I I 6 6

000000 N = (G =(V,A),st,s,c) 00000 000000000, o000
000000000 (auxiliary network) M, = (G, = (V. A,),st,s7,¢,) 00,0000
O000000. 000 A,0,

A, = AJUAZ, (2.33)
Af ={ala € A, p(a) < c(a)} (2.34)
A; ={ala€ A,0<p(a)} (@e00000) (2.35)

00000,0000¢:4A,—-ROOO0OOO0O0OO0OOO.

C@(a):{c(a)—go(a) ifac A0DO,

(@) facA;000. (2.36)



1 p(a) — 0 (a € A).
22 00000000N,000.

3: for NV, 00 st00 s~ 000000 POOOOO do

4:  d «— min{c,(a) |a € P}.

5 for POOO 0000 do

6 ifaDA;DD then

T ¢(a) — ¢(a) +d.

8 elseif a0 AJ 00 then

9 p(a) — ¢(a) — d.

10: end if

11:  end for

12: DDDDDDDDNWDDDDD.
13: end for
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U240 2400 250000000000 bb0bO0000. obbbboooged
gog.d

[Do0D000000O0]
000000 N =(G=(V,A),s",s",)0000 (cut) 00, st €U, s~ ¢U000
000000 UCVOOOO000. 0000000 #U)0,00000000.

k(U)= > cla). (2.29)

a€AT(U)
OO0Oo, AT U0 vUo0ooogoon V\UDDDDDDDDDDDDD.
0 2.5 0260000000 Uz{s*,d}DDDD,DDDDD TOon.

026: 000 U={std}

00 2.7: 000000 N =(G=(V,A),st,s,c)00000000 0000000
voooao,

v () < ke(U) (2.30)
goooo.
@o)
Vi) = ) Op(v)
vel
= Y ela)— > ¢la)
a€EATU a€A-U
< Z c(a) — Z 0
- iW) h (2.31)
a
0o 2700,
max{v*(¢) | : NOODOOO } <min{x.(U) |U - NOOOO } (2.32)

goo.



() = p(sT)
= 9p(sT) + dp(d) + dp(e) + dp(f)
= (2+3)+(1+2-3)
+2-1-1)+(2-2)
= 2+42+2-1

= @(S+:G)+¢(€a57)+¢(f757)—SO(aae)
= 3 ww- Y e

a€EATU acA~U
< > e

aceATU
= 6

¢(a)/c(a)

0270 (231)000

¢(a)/c(a) c¢(a)

028 (a)0000000000000ODO 0O (h)DOOODOOOODOOOOOON,

U0 2.a 0D000-0000000000O0O0OO0O0O00O0000O0O0O0O 0000
gooog.

(00)eOO0OODO-ODO0O0ODOODOODODOODOOODOOOOOOOOOOOOO. O
O, NOOODODODowooog

v () = Ke(W) (*)
oooooooono,

min{x.(U) | U NOOOO } < k(W) =0v"(p) <max{v*(p) | : NOOOOO }

0000, 0 (232)00,000000000000000. 000, 0000000,
wooooooooo.
00000000000000 AN, 00000 (0 28000).0000,00 st00
00s 000000000000,
N,0000,00s"0000000000000000000WOO00 (0 2800
0).0000,stewdO0,00,s 0st000000000000s ¢WOOO.
00000,wOoO0O00000.00000wWO0000,(*)00000000000.
0o (0),(0)0o0o000.



(0) bDOooOOOoONDODODOWDOODOO eO,00000000AM, 0000000
0000, ¢la) =cla).

(0) DOODO0O0ONOOOOWOOOOJ/OO0OOO,000000«00000000
OAN, 00000000000, ¢(d)=0.

O00000,0 (23)00000OoooowoOoOOoOO0O eo0oOoOoOooQg,

V() = ) 0e(v)

veW

= D vl@- Y ¢l

a€ATW aEA~W
— Z c(a) — Z 0
a€ATW aEA~W
= k(W) (2.39)

goob.o

gbogo-ogoobbooboobbooboouoboo,ggboooboobobo
gobooog.

00 25 (00000000O0O0O0O0O0O):
max{v*(¢) | : NOOOOO } =min{x.(U) |U - NOOOO }. (2.40)
u

00 2.b: 0000000 ¢(e)D0000OO0O0ODOO,0D000-000000D0OO00OOO
gobbbooooobobooogbbbooo rggboboo.obboo,bodgo
gogobooboboog. o

0000000 c¢(e) 000000 0O0OODO,0000-000000000DOOOOOO
ggboboboogobboboodg.gbboa,gooog.

00 26: 0000 cA—-ROOOOOOO0OOOO,0D00@DOODOOOOOOO)
gogboboooboob. o



